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CHILD DEVELOPMENT AND PEDAGOGY

1.
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A child who uses both its hands to |

hold a toy, gradually holds the toy

with its fingers. This can be best

explained by this de{relopmeﬁtal

principle. '

@) Interaction

(2) Development is predictable

(3) Individual differences

(4) Development proceeds from
general to specific -
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Comparatively, emotions shift

(1) childhood
(® infancy
(3) adolescence

(4) puberty
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;/ The mod1f1cat10n of existing

" knowledge structures as a result of
exposure to new information or
experiencesis ..........
(1) accommodation
(2 assimilation
(3) schema .
. (4) equilibration
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A child of class I obeys the orders of
the elders to avoid punishment. The
child is in this stage of the
Kohlberg's moral development.
(1) Stage I of prer_noral level
(2) Stage II of premoral level

(3) Stage IIT of conventional

’ morality

(4) Stage IV of conventional |

morality
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One of the following perspectives

proposes that all children have an

innate language acquisition device

which is responsible for language

acquisition called the .......... 5

' (1) nativist perspective
' (2) humanistic perspectlve

(3) behavioristic perspective

(4} socio-cultural perspecﬁve
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One of the following speaks about

the social expectations for every

stage of development. -
(1) developmental tasks
(2) developmental hazards

(3) conflicts

- (4) cognitive abilities
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Pick the correct statement from the

followmg

(1) Physical health is 1mportant '
than mental health. ' |

(2) Mental health is importént than

- physical health. _

(3) Physical and mental health are
interrelated and both are
1mp0rtant

(4) Mental health is 1mportant for
intellectuals and physical health e
is important for labourers.
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The performancé of a student is less

than his aptitude in Mathematics.

He ﬁequi'res...;.._.... '
(1) extra coaching 7

(2) training in memory techniques

(3) best teaching

(4) guidance :
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9. ‘Prediction’ is the characteristic of | 11. Relation between intelligence andz

the following psychological éoncept. Fgt éréatiirity 18 i
(U Interest |- (D) positive
(2) Attitude oo g o8 By | - (2) negative
(3) Creativity _ - (3) no specific relation
(4) Aptitude | - (4) positive in students having an

h PEREN, ; ~ above average 1.Q.
(ROt B STy S oo, g Gl
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(1) 00D - e e e
(2) 20 B (B) 2a0emds

(3) D%éomc;ﬁoéd:/ |
(4) Bhe @’a@e@ vy o500 ¥OAS
DPpes® s

3) RET SO
(4) ww P,

/A classroom teacher would like to | ‘ . :

: ' : 12. JLoarning outcome depends upon the
know the opinion of class X students D
‘ " i : ‘ , tollowing.
ARl Tt 8 2k : _e SpPropriate | (1) learner, learning material,

method to know the opinionis .....:. ‘ : : i
| CE e learning process and teacher
(1) case study (2) learning material, learning
- (2) observation process and teacher

(3) interview . (3) learner, learning material and

(4) attitude teacher
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5 ‘
| (& One of the following methods is_more;-
| ~ suitable to teach the heterogenous
group of students for self—ipac‘ed |
: learning. . 7
(1) lecture method
l ‘(2)- historical method

(3) programmed |
"method :
(4) loud reading method g
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A child is not able to l_é_arn‘é task |
: _properly because of nonattainment |

of age. The learning factor involved |

I8 ine
(1) cognitive

(2) personal

(3) environmental

(4) social
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"Law of exercise" is the contribution -

(1 Behaviorism
(2) _Cbnstructivism

_(3)' Gestalt school

(4) Psychoanalysts
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16. Three students bf class IX stand in

1st, : 2nd and : 3rd

achievement tests. All the time they

~ feel jealous of one another.

Tn this case, the teacher needs to
concentrate on this domain for théir .
healthy development '

(1) conative

(2) affective

3 pSychomot‘or'

| (4) cogmtlve ._
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(1) is active in R—S conditioning |

than in S-R conditioning
(2) is active in S-R conditioning
thanin R~S conditioning

conditionings

" (4) is passive in both S—R and R-S

conditionings
@q?gaé:atéa I8

BoirSen cowod.

(2) R-S2 23085908 508 S-R :Ozaocs:soe‘ss

:§cﬁ.}“éé§cﬂ° &otael.

(3) S-B, R-S 2uoime ac&cesm

- BairgSer cowool.
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_Essentlal component of learnlng is
(1) experience
(2) teaching

~ (3) objectives

(4) guidan(e
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Aé’cording’ to Vygotsky, children's

self-directed speech is called .......... '
" (1) private speech

(2) egpcentrlc speech

(3) culture-oriented speeéh :

(4) social speech
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(3) is active in both S5-R and R-S
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17.‘ Involvement of_the Jearner ...

. A teacher and two to four student
form a.collaborative 'group and taki
| turns in leading dialogues on th
content of a text. Itis called ...........
(1) reciprocal teachlng
" (2} remedial teaching °
| (3) extended téaching

(4) cooperatlve learmng

e SRR, L Bod SOONAES
dglizen &8 comsvc‘.ﬁ @mmom D&
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| 21. A student of class V has learnt many 7

~ things when the class teacher
appremated the behavior of his
classmates. The Iearnmg theory
involvedis .......... P :
f‘l) insight learping
(2) social learning
(3) instrumental conditioning

{4) classical condltlomng

X oS HUNS Do, & &% Da‘sdm
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Changg in the neurological system

memory is known as ...........

(1) engram

(2) genetical memory

~ (3) biogenetical memory

(4) linguistic memory

238 BBt B 53 & agsips® SO
BT ROP 0T

(D) e

(3) do-eiog)®
(4) wi?@g O

A class VIII rural student learns the

- periodic table in a similar fashion to

learning 'VIBGYOR, the colours of
thé rainbow. The téchnique
involved in this learning is SR
(1) mnemonics | \

(2) paired association

 (8) ideas associati_on

(4) word association
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of a person due to the process. of |
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To carry out the provisions of the

RTE Act, 2009, ‘funding' is the

responsibility of ........... ’

* (2) the state government _ |

(1) the central gdvernmént

(3) SSA and RMSA
(4) both

- governments

central and state

PO JTPEIEY, o, 2009 6% oo
€000 DA THENS DD SHoERY,

e TR BID S
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; 25. As per the NCF-2005, assessment

at Class [and Il is

..........

(1) no test in any form -

. (2) oral test

3) a sifnple written or oral test

(4) based on the syllabus

2B JEBePO B(e0-2005 S0 |

.43, Dot BOI00E" Sotselss S0ed b
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“One of the following indicates the

- learner's higher cogmtwe ability.

" (1) Retention

(2) Reasoning
(3) Imitation

(4) Observation
el O 253 egrgstd 0¥ m&‘sﬁ “

5%3%"3;1 :OJ‘D(JJO@
(1) Qevdse

(2) S50

3) Lostes

(4) 50%e%

One of the folloWiog is the reason for

learning disability.

- (1) Possessing 1.Q. less than 70

. (2) Inappropriate teaching

(3) Comitting errors in solvmg the
problems

. 808 153 i PN 90
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(2) S e Svotie
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Irinovatlve way of problein solving

is mostly observed in thlS learnmg
(1) S-R conditioning

(2) R—S conditioning

(3) Insight learning
(4) Social learning’
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One of the following actions of a

teacher indicates that he is a good

leader

(1) doing things right

(2) doing the right things

~ (3) setting the things right
' (4) asking to do right things

SFTROUNG Be B Lk B 80D
TABLIT BP0 |
(1) S0 ww Sokses

PN@) 506355 is0eis Detioss

wly

@ Defect in the perceptual process |

(8) SRowwo 158, Busges
(4) PO B:30em Do el

A child comforts ano’chef child who

is crying by offering her toy. The

behavior' of the child who tried to

 comfort the other child represents

- (1) social development |

(2) social . and
; development, '
(3) ‘ofnotional,devel'opm_eht :

(4) .ooghitive development
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A2) w05 &by Srees, Tt Sovgren
(3). K0T FETCP, DO WoDSRFO)

(4) Tl LoEIPees, ST S WO

P.T.O.



indi avi idya.com

PART-III BOOKLET
LANGUAGE II - ENGLISH e
Choose the correct word tofill in the | 6. To make the past Derféct tense, we
¢ blank in the sentence. , use this helping verb. '
(Clt;pper 18 o useful metal. (1) have '
i (2') Zn (2) had.
- (3) the . 1 _seihes
4) any - ‘ - /V_*"‘““ (4) having
I forget his name. 67. The opposite of 'equality'is ............
In the above sentence the (1) unequality
underlined wordis a.......... : (2) disequality
(1) noun : " (3) nonequality
(2) verb 5 , (4) inequality
(3) conjunction -
(4) pronoun o Identify the correctly spelt word.

(1) accomodation

Identify the correct sentence. ~(2) accommodation

(1) How far your house it is from

! Bbre. (3) acommodation -
~ (2) You are doing that why? . J (4) accommodetion
-(3) How f‘ar is it from here to your | g4, Choose the correct word to fill in the
‘o house? o N hiank in the sentence
. (4} Whereyou are goingnaw, We went .. . the market last
®4. Choose the correct word to fill in the Sunday.
- blank in the senitence. KO (1) up
Rama can speak ........... : | (2') onto
(1) fast ' @) to
(2) wonderful | | ¢ 5 @) off
-(3) fastly - : ' : - '
- (4) severely S '}0/ Choose the correct phrase to fill i in.
65. If you combine the following two tlte blank in the sentence.
sentences . ' . They........... living here since 1999.
a) Heisstrong. : (1) have been '
b) He canwork hard. .  (2) hasbeen
You will get : ‘ ~ (3) are being
(1) He can work hard because he is ' (4) have being
2) ﬁzoigst rong whe n b carEw ork 71. | Identlfy the posn;we degree' of the
hard. , sentence.
(3) Though he is strong, he can Raju is teller than Amar; -
work hard. (1) Amar is not tall as Raju. :
{4) Although he can Work hard he | (2) Amar is not so tall as Raju. -
is strong. _ _ ((3) Amar can be tall like Raju.

, (4) Amar is as tall as Raju.
W-2U/TET-111-EM/TM o 14] ‘
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72. Identify the correct 'question tag' for
the statement. :
Your brother is a teacher,
(1) ishe |

~(2) isn'tit?
(3) isnt he.
(4) isn't he?

78. What is the meaning of the word
underlined in the sentence?
The water glittered in the sunlight.
(1) shone
(2) shine
13) shown
(4) shining -

. If you combine the following two |

sentences,

a) She likes English. .

b) She likes Mathematics.

You will get:

(1) She not only likes Enghsh but
also Mathematics.

_(2) She likes not only English, bm 1

also Mathematics.
(3) Not only English but also she
likes Mathematics.

(4) ‘She likes English and not only

Mathematics.
75¢ The 'reported' form of the sentence,

Thevteacher said to the pupils,
"Eisten." 8w '
(1) The teacher sald the pupils to
listen.
. (2) The teacher told the pupils
- listen.
- (3) The teacher asked the pupils to
listen.

(4) The teacher suggested the‘

pupils to listen.
W-21/TET-111-EM/TM
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76. Identify the question to get the
answer. '

Yes. We go there every year.
(1) Did you been to Ooty?

” (2) Have been to Ooty ever? .
(3) Did you go to Ooty never?
(4) Have you ever been to Oety?

ﬂ{ In a letter to an officer, the
'subscription'is ...........
(1) Yours sincerely,
(2) yours faithfully
A3) Yours faithfully,

(4) Yours' faithfully,

. Identify the correct senter{ce that
contains all the words in the box..

: |_su:1, clouds, makes, the, the, us, for

(1) The sun makes us for the clouds.

_ (2) The sun makes the clouds for us.

(3) The elouds makes the sun for us.
(4) The sun clouds makes for us.

}8/ Read the four parts of a sentence.
They are marked A,B,CandD.

LK) because it was interesting
.B) inferested in the book
C) that he could not put it down
D) he was so

~ The correct sequence of the partsis :
A1) D),B),(C), A)
(2) B),C),A),D)
(3) A),C),B),D)
4) D), C),A),B)

P.T.O. '
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80 to 84 : Read the following passage and answer the questions given below.

John Ruskin says "All books are d1v1s1ble 1nto two classes, the books of the

hour and the books of all tlme

Similar ly some books are read by 95% of people for some years and then
“they are virtually forgotten Take for example detectn e novels We mady not
have heard about the authors of detectwe novels like Erle Stanley Gardner
Although the taste of readers is changmg, 5% of people continue to read 'classics'.

Mark Twain said, "A classm is a book which people praise but don't read.”

Books are good compamons and good counsellors. They are hke good friends.
Asa good friend walks in when others walk out, books also walk in to console

you. They offer the best solace you think of.

fé. According to Ruskin, books can be M/ According to this passage, ......... _

divided into ....... , . , (1) amajority of people read classics |
(1) some categories . .+ {2) everyreader reads classics
| (3) more than half of the readers

" (2) three categories
) § : . read classics
o RRERlageLen (4) a small percentage of people read
(4) two categories - ° ‘

| . classics ;o
. };/ According to this passage, ........... , 9'[ The writer of this passage ¢ ompares”
(1) some ‘books are read and bboks to ...........
forgotten ‘ i | (1) friends -

- (2) classics
(3) time
(4) detectives

(2) very few books are read but
forgotten |

(3) most of the book‘; are read but

% The writer of this passage says that
forgotten
books can make U sodsedans

(4) no book is read and forgotten ' (1) feel sad

(2) feel better
(3) feel dejected

(4) feel serious

W-21/TET-111-EM/TM - ‘[16]



% Language games can consolidate

87.
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the pupils' skillsof ...... |
(1) listening and speaking oﬁly
(2) speaking and feading only
(3) readlng and ertlng only

- (4) listening; speakmg, readmg and

writing

We teach a supplementary reader

(1) leafning pro.nunciation
(2) learnihg syntax
(3) extensive reading :

(4) intensive reading

‘Read the question in the box given

below :

- Choose the correct word to fill i

1 the blank.

|
\

Ravi goes to school ......... bicycle.
a) by | b) on

c) with d) over

" The abm_'re test item tests the |

(1) lexical item

(2) knowledge

(3) skill
(4) speech

88.

[17]
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At schools, teachers conduct unit

tests, terminal exams and annual

exams to ensure ....... |

(1) continuious and comprehensive
evaluation | |

(2) _summative evaluation

(3) diagnostic evaluation

(4) formation evaluation

In micfoteaching, the sequen,ée_ of
eventsis: l
(1) Teacher traihees improve their
spoken English.
(2) Tf';ey prepare a microlesson
plan, teach, get the feedback,
, relpl_an and reteach.
3) Th'ey teach, get the feedback,
" prepare a microlesson and
~ reteach: | | h
(4) Thej' prepare a microlesson plan

. £ ! . .
and improve their teaching.

One of the basic elements of spoke’n
English is ﬂuency Fluency is the
ablllty ofa Speaker

(1) to pause at the right plece while

speaking
(2) to speak fast

(3) to speak as fast as he can

(4) to speak as slowly as he can -

P.T.O.
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- PARTIV  pOoORTET
MATHEMATICS _ !
/‘i{ There are three sectors in a pie- 94. Ina AABC, if|A = 90° and{_ 2]_ :i; ,

diagram. If the angles of two sectors then |C i W
are 80° and 140°, then the angle of | a5 e
the third sectoris................  @5AABCS|A =90, B =9C wouss
&5 HoTs 3&,\?0@‘3& VD ST @;)eb‘cé ........... | A
QyEoTTs. 80° S5bokn 140° @ gsm“eés (1) 15° PN (2) 30° ":,y
, DO tons DA, Maresd 2 So (3) 450 dmigpe o
(1) 2200 - (2) 60° - 9{ ' e
3) 1400 @) 800 . The present age of a father is 42

. : _ - years and of his son is 12 years, The
g A cricket ball's cost is Rs. 36 and the :

cost ofa cncket bat i is 12V times that
of the cost of the crlcket ball. The

cost of the cricket bat (in rupees)is ...

ratio of age of the father to his son 2
years agowas........... :

BoIG, EAPte (5508 DAt RLST 42
SeHB e, 12 BoRBy TR0 w2

Y esBSucdsuun. 36. BSoSiw @S | 508,07 (350 T0 BAHRO DY e
: E.“ 95 w08 & 124 Tes @0»55593@5055 Q1) 7:2 w2 4:1
i Y Lo, s : 0% e ' - ; : -
Sty (e edh) %of, | 3) 2:7 4) 1:4 -
®/(1) 450 (2) 350. ~ = _ @
| /a (3) 550 4) 650 “"2/ | % If 2 m. 60 cm cloth is required for :
-v; %,. ' Q3 one shirt, then the cloth reqmred for
o b ' i S 1
“793. The value of [12 —y} [12 —PJ Tshirtsis..........0
_ . - (1) 14 m. 80 cms
sl g (T R 2) 18 m. 20
£z [poisi 1002 | 18 -eeee g 42) 18 m. 20 ems
' L AT ~ (3) 15m. 20 cms
‘ [19 - “31T (12 s é_] : (4) 16 m. 80 cms

: , : : 28 J59,5 2 20, 60.0.20. mg SRS
( 12 -__]._ ........ (12 w___] Do ... T T 0 eSO 108 wernerans
- | | (1) 14 2. 80 o.bo.

‘101 T =
Do 2) 150 (2) 18 25. 20 Do.bo. -
9 3 ' (8) 15 3. 20 0.0
3) -— 4) —

200 100 (4) 16 2. 80 o.5s.

TR W
= /’3
W-21/TET-111-EM/TM - (18] Y



9% The value of J1.445¢ 6.25 18 dswisies

JL 44 % 6,25 By, DO oo

(1) 2 -
@1 j’—Q"

(3) 4 , S ;:4\

w4 3 ' /°

v

l..\‘
\n

" W-2U/TET-111-EM/TM )

923. If x, y, z are any three r_ational
numbers and if x >y,y >z, then
x>z This property is known as .....

(1) Law of Trlcotomy
(2) Transitive Property

-(3) Associative Property

(4) Closure Property

x, y, 2 2o DO Bt e.a§t5c%o:$b “Jozpz@_,

Woxsy, y>2z eao;otéx>z wHEoed. B4

3 5o e B e
(1) S0 Dajesd S0
qu“(Z) SolEhors Hoe
(3) Sns e

(4) sonBEte

99. A échool has 560 students. If the

 pnumber of girls is 142% of the |

 number of boys, then the number of !
girls inthe school i IS v o

w5 PoTod’ 560 Kaod Doegtiws Soth.
o8t e FESo SO w
9000 &8 #éweaé'sé’) rOSe Sowy

(1) 320
(2) 80
(3) 70
(4) 490

PRV T 7S

L . L
eI _ o

W%t
)

e PALEEY > 2"/

(19] ;
0'7‘7"" % gdgo“v‘-p)

w’?
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. If a clock shows 8 o'clock, then the
“angle between the two hands is

KEosPEens® 8 Hotedntiy Oodis ;’am‘ja

&

mu,sgﬁsm;’:m
(1) 240° \ - Tt
(©2) 1200 A\ v, oy
: a5 WA v /7
(3) 145" 2.5 T X T
(4) 125° N w

-101. To represent equal numerical

P
A

values, same type of diagrams are
usedin ......ccceeeune

: ',,)-'( X/\?:_
| A {

b )

A

" (1) bar diagrams
(2) pie diagrams
(3) sectors Ch

(4) pictographs

BHF oy N EHON BPOcHo &l

B Shoeo S5GIPROM DGR

Ry ;%D@ﬂw

(2) P SwiPRATe

(3) Dyesoen I
4) SwATPes ' A\

. There are some bags, where 21 bags
are 'kept i each room. If the bags

" are kept in 16's and 20's per room,
4 bags are left out. The total number
of bags that are therein allis .........

o, KOS 21 Sy S R weo
Sod). & ePo w53, rost 16 55 20
oo ot wolb ESIF0 4 200
QSADD BB 23V 0Py srenaenee
(1) 48 - . Y
(2) 80 :

g3 84 N
(4) 76



105.

/

/ 9 (3 4
;l/();;/Thgvalue of:1—7 | 7.—5 s

9 (3 4
R

-17 (7 5
117
595

c 117

595

(3) 117

(4) -595
‘117 -

] I

(1)

. The ratio betweeﬁ Rs 2'and 60 paise |,

) 1 T :

5. 2 %3805 60 Fols) ?.’33655 3@9@ ........
(1) 1:30 e _

(2) 30:1 \-0__1:‘ L

(3) 10:3 - 80

(4) 3:10 |

If one aﬂgle is the aVefage of the
othef two angles and the difference
between the greatest and least
angles is 60° then the formed

triangle is called ...............

(1) an 1sosceles trlangle

W-21/TET-111-EM/TM

(2) an equilateral triangle
(3) aright angled triangle
(4) aright angled isosceles triangle

o5 (Doeeand™ wf Seatn oADS Bots
S0 S0 Kwdoko 1o, 305 Sere W

250 600 ex00k &2 (Bowa

(1) o5 30h o @done

(2) 25 S @dbes

(3) w5 wows’m (Bgbro

(4) w5 S0 vowse (Ggbwuo

106.
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The difference between the lérgést
6 digit number and the smallest

5 digit numberis ....

| esth woly 2080 1Y Soggks, 2% ecle

w38 Q) Sogpgs heo iiﬁ‘é.w
(1) 999998
_ aﬁ%‘f}
~ (2) 888888 %
(3) 988888 48 b
) 989999 '

. The summer vacation was declared

for all the schools from April 24'. If
the vacation is for 49 days, then the

schools reopen on .
(1) June i B B

...............

' (2) June 12t

(3) June 10t
(4) June 13t~

&0y P00 Jpciod 24 9 DR WD -
Dopes ENomrts, e 49 Bes
PETOL Sy @soasmzb Fa)
(1) &5, 11

(2) &8, 12

i'(S) 23“5, 10

[20]

) &5,13

’

If two-thirds, half and one-seventh
of a number is added to itself, the
result is 37. Then the number is

2.5 Sogg 030k, 2/3 % grIian, S Wik
1/7 % e es :aoa:?s?b §°@oat355 CS"D RISU
37 e90a0%, es Sogpg

----------

(1) rad
, 97

2
18—
() 97
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199. The value of a vehu:le deprec1ates

every year by 5%. If the present ,
value of the vehicle is Rs. 50,000,

then its value after two years (in

rupees) is ........:... s

L0 G0k, (550 Dewsis 6. 50,000 |
& EOSCTELER T e 5% BRSS |
Bots aoééodboaw BHBoTH G‘D Qo0 |

@ 42 @ . Ty
%The perime?e{'bf a semicircle

(55‘ 955) A
(1) 45,125 . (2) 47,500
- (3) 52,500 - (4) 54,875
110. The center and eh_d points of an arc
; of a circle are collinear. The arc is
called as
(1) diameter
(2) chord

(3) major arc
(4) semicircle

indiavi dya com
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112 The cost of 4 dozen papers is Rs. 24
The cost of 1 score of papers (in

rupees)is .....cocveeus

TPl e TABDILO D o 24 e9020

2.5 25,8 PSSO Do (E0.06)
(1) 40 F o,
W )2
@ 20 @%
@10

is 36 _cms. Its '_dia'merter

(in centimeters)is ............

SIHER00 10033870B 36 290,20, S T

2 . Tads0 (20.00.06%)
2 By TR oy, Wkt Dotioes, e | - ( 68)
S EEoses: 6’65)053‘@0»393@5&: 17 o o i
(1) =gesoo: @1 o A e
@ & , — L B2
(3) @@553@330&5» | 3) 22 .
111. If 3:'2 and %:3, then the valué / 4. The value of 0.2727........... +
. a . . , : _
a+b . 0.7373 ........ 1S ceoeeneenne .
. of i p 1 A ‘ . =
! - 0.272T oo +07373 ....... Deiss
2.:2 Bodais & = 3 L9000 a+h Dasd (1) 1.001
a’ b b+c .
' ' (2) 1.01
3 2 - -
P @3 (3) 1.0202..ccc....
3 N (4) 1.0101........ -
® 3 @3 T | |
W-2V/TET-111-EM/TM 21 . pr.O.
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P4

The author of '"Pancha Siddhantika'
is i ‘

(1) Aryabhatta

. (2) Varahamihira

| }/fﬁ.

W-2U/TET-111-EM/TM

(3) Bhaskaracharya
(4) Brahmagupta
o SERoBE” oSy
(1) estigie

(2) STRTRrEE -
(3) oo

(4) @am&rbg .

The terminal competency to be

achieved in Geometry at the

primary stage is ;

(1) to understand the types of
triangles - '

(2) to draw a circle when radius 1s

given -

(3) to draw an angle equal to the | |

given angle . .

(4) to express the concept of a circle
and technical words associated
with it |

g8 Jons® woss” FBoBHeS

OB TR

(1) (Dgior: Bved0 Dm0 D080

(2) g oDy Wy Aotses

(3) 3o Seosoodie BursRs e

 Actoe

(4) P, PR3 oW POLFRS

HTPess Gy DoGowoe

[22]

118.

117. Students are asked to find'the_

various characteristics of a rectangle
by using a geometric box. The
teaching method adopted is the ......

(1) playway method .
(2) problem solving method

- (3) Heuristic method

(4) project method

He HONTPY B dSEIPASH HFuBUEe .
B, DD eEETo B0 PR DT ipes
501, s S 5es

(D) Smusse

(2) w0iog BOU 35S
3) _@?55?’.:\9‘3 5%5&’.9 ;
(4) @B 55

In the lesson plan presently being -

prepared in schdols, the aspect to be

" indicated after content analysisis ....

(1) teaching learning activities:

h ;

¢2) competencies to be achieved

(3) teaching learning material

(4) evaluation .
B0 SvTevd BOIRt BoRBERLY
s, 9508’ gt Te BOUD KDY
WO WP | .
(1) Shsraigs Hvgoos

(2) QO DL FoTreD

(3) Srargss Faod

4) :’;::55@59’3‘:.:0
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n/l ‘Student verifies the outcome when | 120, To evaluate a text book as per the

W-21/TET-111-EM/TM

two fractions are multiplied". This
specification belongs to the objective

(1) understanding -
(2) knowledge '
(3) application

(4) skill

(Dot PR Kordoum H 2O,

| 2R SOUFGSN” 90 Bt o8 DOBD
335,55‘59‘3

(1) esdmessvd

(2) egsoo

(3) RGP

(4) Pomgse

(23]

Hunter's score card, the content is

to be assessed for ............ points.

rowby 3;1,6 St esqsnéor% &8 bvesg@‘gév:)&
BOPEROE0 WOLEERE Ty RS
ﬁvonéegga méo@_ Dasay

(1) 50

(2) 250

(3) 100

(4) 300

'P.T.0.
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| 1% Examine the foIlowmg
A) The tip of the tongue — sweet

taste .
B) The back of the tongue —-sour
taste
C) The edges of the tongue — bltter
‘ taste
‘D) The middle of the tongue salty
taste i
« Identify the correct palrs J
0G0 2o Kofoipiaso.
A) s DSt - By T
B) wrenl ad0s )= t)
C) Treol eodows, ol

D) TeosaiEelio - &%p
(1) A),C) "
(2) B),D)
(3) B),C)
(4) A), D)ﬁ\.‘:\
. The first-aid kit in a classroom
contains tartaric acid, iodine,
antiseptic lotion and potassium

permanganate. The item/items yod |

use to give first-aid to the victin of
scorpion bite is/are ............
(1) 10dine
(2) potassium permanganate or
tartaric acid
(3 antiseptic lotion
(4) antiseptic lotion and iodine
B0 NOE® &y o Daawy HAEY, croos
@500, B@B0ES, Doe3hE E%S Kodass
PeTREI00 STUOHDL &g, Desndd ‘.f)§§§
(5550 D35, DoLerS 0P EndEFicHD B
| ESEFACHD.
(1) e@aS
(2) Jrerhayoo aJO'“&cth%éJJ BE wm@g
eSRI0 L
(3) Dowdu8 %S
(4) boé(opa.) E835 sdai eao?u;éS

W-21/TET-111-EM/TM

124.

1% The number of players and extra
players present in a kabaddi team
respectively are .

5 Neog 23e306™), eseo sz:aboéo‘ix Y
&a».JT\"‘{Q woa:§ m@m
(1) 5,2
(2) 6,4
) 7,5
(@) 8,2

Examples for pollination by Wateri
and polhnatlon by wind respectwely

' (1) hydrilla, maize
(2) wheat, vallisneria
(3) drosera, paddy :
{4) eichornia, pistia
D3 TUTE H00a%. O TR ae@?'i soeit
e K éa‘métaen ot TR
;‘tf‘l) {@e?:,?‘hw%é‘@/
(2) Rions, Tno
3) @b, 20
,(4) 25808, 305>

126, Skeleton of a man : bones : : skeleton
ofleaf: .......... ;
(1) chlorophyll

- (2) veins -
(3) xylem

(4) stomata
WX ea?ga’ao‘a:bbx 3 JR00%e0 ¢ 1 es2A0Y
€50 Hoestinw :
(1) BEm0sas
@2) Trie
(3) EoBmeEren
(4) HBtomren

[24]
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126. A farmer collected 'sword suckers' 1}3/ A person wishes to stay in a forest
to grow in his.field. The crop - < and study the life of wild animals.

(1) potato- ' The type of the house he has to live

(2) turmeric :

(3) plantain

(4) sweet potato (1) a tent house

{2) a mud house
2.5 O, 29:3 Sreod® ¥ aoea Hovrld (3) a stilt hdu_se

ISP fo§6o:5°c.‘g @é‘éoff::a n;oea | (4) a hut '

(1) omeeiood
@) 5559 008 JehEr, 6D Syme KGed

7\‘{3) et : fe, ' @@mﬁoﬁmeﬁ:;ﬁ%m B3 DB

(4) Ders Sacis 5o6" Jisomd
- _ N (D oo gen
124. The skin disease caused due to (2) 2o qe
vitamin deficiency is ............ PN3) BosDges
(1) Pellagra o |, W -
(2) Eczema - - _ . 1%) The ab: 1ndant presence of these
Ei; i{;:les - | - plants _decre:;ses the nitrogen
: ' ' rercentage in the air.
- Deadip 0 Hos WA X TG , &
5 e . (1) leguminous plants
(1) e . _ .
s G - , _ (2) plantains
(2) d&ar . ! . .
, = ‘ (3) water hyacinth
(3) woeddoew s P
(4) coconut
(4) B o : . m
B0 00 AT &yt TS e
f A farmer has a field Wlth sand soil S é?géaoé)g

in coastal region. Suggest a suitable (1) Ema@.ﬁfa oo

crop which can be grown in his field. (2) .@tie?) ]

(1) Turmeric =~ . (3) gy,

(2) Sugarcane o ,(4) ‘5‘23236 |
A3} Chullics lﬁf The gas that destroys chlorophyll in
(4) Casuarina

: plant leavesis ............
2.5 DBo 5205 B (oo’ gove 500

; » )
Pertns &od. & ehnd® Do IDS b ngé% BERdEd THse B

B85 B DERIDAO. o) |

(2) 28 § (2) SO

(3) 2o | ®) 1,5
) oo - - @ SO,

W-2U/TET-111-EM/TM (25] bt g n P.T.O.
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132. Pick up the wrong statement with 1?4"

| . Latitudes and longitudes on a globe
reference to water. '

(1) Ttis not an element. - s

(2) It is a good conductor of | (1) latitudes are - horizontal
electricity. ' ' . o . : L

(3) 2H,+ O, °H,0. | ~ imaginary llnes and_longltudes

(4) It has a constant ratio of - are _veftical imaginary lines |

. hydrogen and oxygen. ) e E s
i3 2 _ (2) latitudes are vertical imaginary
Q838 Howodod ?éa;’aymf:&’“béa&}’oa : : - '

(1) 8 Saresin TE lines and longitudes are
2) @b Hood DEERETEL |
(3) 2H + O — 2H 0. :
(4) . f}:}é’s m@sﬁs aéoaSg; 35&)@ otﬁom (3) both 'latitudes and longitudes

Gowsely.

horizontal imaginary lines

are horizontal imaginary lines

/‘ . . .
1??}5. Examine the following statements. () botiidatibudis andi shotniies

i) Need not clean toilet daily. L5
" ii) White washing of a house to be Aifie verml el lines

taken up periodically. 3 i) Peaspolio a—:@o’é 333"0’%533&3
iii) Store the _garbage in i_:he dustbin ) g L cﬁéomﬁ isesls a5 Bepose
~only forever. , : ' _
iv) Water and food vessels muiat be ;3;605;3?5@0%&»& PREcud;
covered with lids. | &atlpen

Identify the correct reéponse-s from (2) egposvue Doy ﬁoﬁowéﬁ

a4
| s
- the following options. & 458 Bepens S0t e ' S
Bot TE0wo 56%De0E | = ;
) 68 wotor 569 ‘ré:@‘ﬁbdbbbbéo Aaoeds i epe
Bt - (3) o308, SgroEHowd SobF wior
) sé@ssba;é‘qcéémﬁowmwa“ | e i
1i1) 28, 5@0‘3& QOER Bémué% 57" ﬁoj‘m&’,é &ai5iopeo
;)C’S_éc’:sjD ° (4) oo, Sgrotisoues TOLEP Jesymr
1Y) QB Ho00¥0 &3058603@0"3 TSR 3 : ‘
OG0 w0 IoQoDed. - '
(1) 1), 1ii) (2) 1),1v)
Q@ i) @ i, iv)

W-zllTET-uLEWTM‘ o [26]
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’13?’./Grramasabha' means ............ '

(1) it is a meeting in which the |

‘sarpanch and all ward members

- participate |
(2) it is a meeting headed by the
seflrpan'ch in which all the people

ofa villagé attend

3) itisa meeting of sarpanch and

the upasarpanch with village
secretarj and other employees of

the gr'ama panchayat

(4) it is a meeting headed by the |

“sarpanch in which all ward

merribers, youth associations
and caste heads attend

‘qmﬁ: :623’ S

(1) Eesosthon 00t TRFIEHOOEE

- PEIsaEIe

(2) [riaostyed et
@&@uec&tﬁs"@“ﬁhﬁéeﬁ

(3) @o:ﬁ_écbos, 3555395, (SN =oY

508050 FBYERRoTANd &E0e

PN

(4) EPBois0S e, Ty SEopott, |

- oXoded Hodres Dol Boarted
PESY

(271
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1//6;.'Sh;~avanbe1agola', and 'Mahabali-

puram’, the historical places are -

located respectively in these states.
(1) Andhra Pradesh, Tamil Nadu
(2) Kerala, Karnataka

(3) Tamil Nadu, Karnataka |

(4) Karnataka, Tamil Nadu

‘@‘%e‘;ﬁéﬂaé’ ‘mgsa:a;_s;cso' et TPOBE
BT B é-a‘cvge:és 2N

(1) eso (55, BV

(2) 5%, ¥onios i

(37 éﬁ)oémc;:, Soneas

(4) 5@01@5 BT

/’I‘he area ofIncha s .....

(1) 3.28 mllllon sq. kms

© (2) '32.8 million sq. kms ;

(3) 348 billion sq. kms-
(4) 32.8 billion sq. kms
zrtﬁéﬁéo cﬁngbg%‘eas‘o :

(1) 3.28 2sBwS 5,807,
(2) 32.8 DoBa%S .82,
(3) 3.28 DO 1.8

(4) 32.8 DHOS 13.305.

~ P.T.O.
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138. Read the following and identify the | 140. The hot deserts are situated between

correct pair : ' these latitudes on either side of the

_ o B ~ equator.
A) Kuchipudi — Tamil Nadu S ;
‘ Ereiinotio JEREes, §iR Cpth gERde”
B) Bhangra — Punjab

2 OO Wi FOD
C) Bharatana.i;yamwAhdhra Pradesh | (1 15°-30°
| Yoo o ' - (2) 30°-45°
Bod T3 WD BOT™ &) 2 100000k, 3) 5°— 15°
A) SPOrG-BDRTE /() 00— 5
B) o - Sord %/ Health, reveﬁue, ﬁré services and

_ ; education belong to this category.
C) $osTre0 - 0l =] ‘ ,

(1) All are ordinary services.

1) B)’ C) (2) All are emergency services.

(2) A), C) L (3)iTealth and fire services are
3 A),B) . emergency services, revenue
(4) B) only ) l' < and educ'ation services are

P ordinary services.

139. Eastern and western ghats m: . (4) Hoalth “and fire services are

peninsular plateau meet here. ordinary services; revenue and

(D Se.shachalaﬂhillé . education 'services are
. (2) Nallamala mountains | emergency services.
(3) Nilgiri mountains. | }.‘:_égo,ia?:ms, @ﬂ;&%éi % wobax Vg
(4) Papi hills : 0D T4 BER e |

(1) &953;1 P S0
(2) e s SHed
(3) e 20000 SREIDY HHuo GBENSE

Hioo; BIET Ho0GKN Iy SHe

B850 BREEEPTI0 N> B, 5350 300
| Dot gt esdpon
(1) Tpoec Soken

(2) wegoo Sotien Seeetien aded
(3) dehd Sistsess ' ' (4) D5g 900K MR Bdesd Fordes
(4) % ?o&w ' .fobea..':; S ;35.605;0 QT fao”)eao.
' ” BERSE DD '

W-21/TET-111-EM/TM K 28]
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4. The poi)u.l:ar ﬁarﬁes- of Gbpai
Krishna Gokhale and Dadabhai
Naoroji respectively aré ............ :

1) Iror man, P'unjéb Keséri'
(2) Grand Oid.man of 'I;idia; Iron
‘. man ‘
3) Pimjab Ké‘s_afi; Socr-ates qﬁ
'Ma'harasht_ra‘ ‘
4) Soc_rétes of Mahafashtr‘a; Grand
| ‘oldl‘ man of India
REvo i R 5080 reeepalo FEe |- |
He (20500 S5 ok : |
(@) e@b&sb, ;soeénz‘s'éros
2) @°5ﬁ>§‘$°§ 85%20_53055";%%‘@3;
(3) SowbEsn, Mivog RS
| @);mtﬁm-@ :‘ﬁégeSS, ek &6 :a:gS e;es

Jodoi

W-21/TET-111-EM/TM [29]
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'143. This is not an organ of the United'

- Nations Organization.

(1) The Secretariat

(2) The Geheral AsSerribly

(3) The World Health Organization
(4) The Internatwnal Court of

“d ustlce

30 05T S ooy, e.*:om’ms'c‘ja
(1) $reche |

(2) SEEHOAOSE

(3) (S50 esBig 903

(4) eosrdbon TP

Examine the followmg and 1dent1fy

the mmnatch

A) “Mud house — Raja‘stah

B) Igloo — Lake

C) Sky scraper — Big city |

| B0 50h00tes
A) mﬁqm _oaJS

B) q?@ B8y

C) wmaﬁémeﬂﬁﬁo bﬁﬁﬁﬁo
iy & e 1oQotsod

1) C) only |

(2) B) only el L

(3) A) only L

4) C) andlA)r

“P.T.O.
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1/4’5 The product of science is indicated
br i
(1) the scientific me‘thod'of inquiry
(2) accurﬁulated and system.atized'
body of knowledge
(3) the scientific attitude
. (4) gatheri-ng of data
e T S s e RO
(1) o 56506° eidyses
(2) Bodaonds  Sodaks Es0ecs0
 Aabeds g0 |
(3) @0k P8 |
(4) sgros dsses.

- Most important initial step towards

148.

achievement ofan aifn 18 sty
@ skl
(2) ability
(3) objective
(4) goal
&5 (aim) Aesosi 90 B 0pRNS 2%
- 555":59 _ '
(1) 3veape

(2) Fa05o

(3) o¥

(4) mo

W-21/TET-111-EM/TM [30]

147. The method that helps in developing |

manipulative skills among the

studentsis........... ‘. '

(1) lecture method

(2) historical method

(3) laboratory methoc_l

(4) lécture cum demonstration
method

DRgoed® Fuig evses PdeTa

DO OROBEIE Sk I8 558

(1) esmmgs 550

(2) =l S

IQ\

() BarhTe 559

(4) ESTngs BT ¥ _

The arrangements that shows the
creatures living onlthe landis........
(1) aquarium -

(2) terrarium

(3) herbarium -

(4) vivarium

PrOT @5.:8’526;-355"3)&

(1) esdBose ‘

(2§ Sgoaswe

(3) 30y0ce -

(4) 3Bawo



kﬁ?/'l‘he plan meant for evalugémg

learning outcomes of the stgdents in
the classroom is called ......... -
(1) unit plém
(2) .subject plan
| (3) lesson plan
| ll (4) year. plan
s ned Sorgge e S0
oo oo ST BR BrEs
(1) ardds esoy
(2) Dag EErOs
/(,3( 5:55 ©ewos

(4) g8 @erds

Indiavidya.com

1{50./The evaluation that is used for
| grading purbese iscalled ..o L |
(1) formative evaluation |
(2) sﬁmmative ‘ evalﬁation
(3) diagnostic evéluatibn
4) gfading evaluﬁtion
. &b?\::@.e;. O (gfading purpbs’e)
waesog:s DO EHETRSD 'é’aéée?_
1 :Jcn&was&g msne:agcgzso |
/(’2) ao§eméé§§ﬂ@5c§‘éo -
“(3) &Dogém-w@zgo%c

| (4) Béoh arereso | . Y



